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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 802 2) 501 3) 803 4 504
-126 -202 -721 - 72 5
3.
4.
5 806 6 509 7 605 8 309 >
- 805 -180 - 16 —_216 5
7.
8.
9) 405 100 102 11) 505 12) 908 9.
- 22 - 16 -483 -439
EE— EE— E— 10.
11.
12.
13) 701 14) 402 15 909 16) 909 13.
- 260 -230 -510 - 27
S S S 14.
15.
16.
17) 107 18) 906 199 906 200 902 17
- 10 - 21 - 397 —_179
18.
10.
20.
1-10 [95]90[85]80[75]70]65[60] 5550
M ath www.CommonCoreSheets.com 11-20|45140(35(30|25|20(15(10|1 5| O




=

Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 676
1) 802 2 501 3 803 4 504
- 126 - 202 - 721 - 72 ) 299
676 299 82 432
3, 82
4 432
5 806 6) 509 7 605 8 309 > 1
- 805 -180 - 16 ;216 6 329
1 329 589 93
7 589
8. 93
9 405 100 102 11) 505 12) 908 9, 383
- 22 - 16 - 483 - 439
—_— —— _ 10. 86
383 86 22 469
11, 22
12 469
13) 701 14) 402 15 909 16) 909 13, 441
- 260 - 230 - 510 - 27
441 172 399 882 w_ 172
15, 399
16. 882
17) 107 18) 906 199 906 20) 902 7 97
- 10 - 21 - 397 -179
97 885 509 723 18, 885
19, 509
20. 723
1-10 195(90(85|80| 7570|6560 |55 |50
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C:# Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
383 172 299 93 399
1 589 82 432 676 1.
329 86 441 469 22
2,
1) 802 2) 501 3) 803 3.
-126 - 202 -721
—_— 4.
5.
6.
4 504 5 806 6) 509
- 72 - 805 - 180 .
8.
9.
) 605 8 309 9 405 10.
- 16 - 216 - 22
SE—— _ — 11.
12.
13.
10) 102 11) 505 12) 908
- 16 - 483 - 439 14'
15.
13) 701 14) 402 15) 909
- 260 - 230 -510
M odified 1-10 | 93]87|80| 73] 67| 60| 53] 47| 40| 33|
[ Math oa ! 1 11-15[27[20[13[ 7 | 0
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